do/dH; [pb / GeV]

[EEY

Ratio to ATLAS

0.5

13000 GeV pp
S B B B I

[— 17T 71T 7 177 | Tt T T T T T | L |_ ﬂ
| — =
o
_ HT(Z+jets) (ATLAS Z+jets) —3
— 9=
L T~
~ i
— — Nl
| o)
= ol =h
— 7 ] OO
| 4o
>
== =T
= . =9
= 143
—  m  ATLAS o
~ = Pythia 6.428 359 13
= —A— Pythia 6.428 370 = ;
- Pythia 6.428 a 45
— ---¥-- Pythia 6.428 dw 15
— —o— Pythia 6.428 p0 —c
= ¥ Pythia 6.428 pro-q2o - S
)
B s
o
- _lo
= | | | | | | | - | | | | - | | | 4+ 1 | E E
: T T T | T T T T | T T T T | T T T |:
= =2
1
| —0.5
" =1 1 1 " | " 1 1 1 1 " | " 1 1 1 " |
0 1000 1500 2000



	Contents
	Page 1


